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Instructions :
(i) All questions are compulsory.
(ii) Internal options are given in question numbers 6 to 23.
(iii) Question numbers 1 to § are 32 objective types questions. Each objective
question carries 1 mark. [32x1=32]
(iv) Question numbers 6 to 15 each carries 2 marks. Answer these questions
approximately in 30 words each.
Question numbers 16 to 19 each carries 3 marks. Answer these questions
approximately in 75 words each.
(vi) Question numbers 20 to 23 each carries 4 marks. Answer these questions
approximately in 120 words each.
(vii) Draw neat and labelled diagrams wherever necessary.
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1 @& faeer gaee fafag e 1x7=7
(D ST & FIAT b1 IAEAT b fgeryor Smenid © |
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Choose and wr1te the correct alternative :

(D Indlfference Curve (IC) analysis of consumer's equilibrium ig based on:

(a) Cardmal utility (b) Demand and supply

1t Income and price (d) Ordinal utility
(II) Price I'atlo Py / Py indicates the slope of\. -

(a) bugget line (b) budget set ;

(¢) price line @) (a) and (©) both
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(I1T) When marginal utility is zero, then total utility is

@< decreasing (b) increasing
(¢) constant (d) multiplying
(IV) Labour is an example of : o
(@) ‘A fixed factor (fb’r A variable factor
(¢) _demand (d) supply
(V) Choose the correct alternative.
Profit'=
(@/C:Revenue — Costs (b) Revenue + Costs
(¢) ‘Revenue x Costs (d) Revenue + Costs

(VI) Identify the central problem which deals Wlth deciding the
quantity of goods to be produced.
(a) _What to produce !
(v) How to produce
(¢) “For whom to produce
(d) ' Production technology
(VID) The - law of diminishing marginal utility is the basis of

(a) ; Prlce determination (b) of demand 5
(©) ¢ (;onsumer s surplus (¢ All of the above \
] £1]

2 o wE @ gfd @i 1x6=6
(i) gt U@ § Us B9 dEd . BROS|
(11)%?3?[’%‘33@?@“{&? 2l )
(111)1%3?[@33'@3!% Wﬁ@rwﬁqﬁmﬂm@nm)

SECECAIRINC] O
(iv) o w1 emeE dged @ Rafa & ¥ ;\
(v)waﬁa%uﬁfsiﬁléaﬂmaﬁ dEd ¥ -
(vi) o W o W S st @ R b
Fill in the blanks : |
(r)/ Thes f rm is a price in perfect competition. Q& ng"]&tc
(i) Increase in taxation  supply. QoAseah © &

.5\ Elasticity of supply refers to quantitative relationship betw A
o and quantity supplied. P Cl:'&'?e it

(iv) refers to a state of balance (equilibrium). "l&!'mm 3309

(v) Per unlt cost of production is called e %,Q "Q b ‘
V.
(vi) The shape of average cost curve is - W ‘(
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(i) %8 & WHS b1 IuEn (i) wemadt a&gQ N
(i) = (if) ., Pl oremgsT
(iii) WA sreferqen (iii) =g i [~
(iv) QrEd-r " (iv) fegre £
(v) NNP (V) Ghd UL IR 5,)
(Vi) SGh, ERT G @1 g (vi) cifem awegd o,

(Vi) g U ST
Match the“‘correct column -

'A' : 'B' ]

(i) Wood used by carpenter (i) Intermediate goods r;‘f
(i) Saving (i) .Mixed Economyz
(iii) Indian Economy (iii) Inverse demand v [~
(iv) Demand of factors (iv) Leakages v o
(v) NNI;’ (v) Gross National Pro{ig)ct
(vi) Machine used by producer (vi) Final goodsz )

(vii) Net Nationral Product] <

[

4 T/ Eg fafeaw 1x7=7

() 9T 7 < 0 & s &1 aegEe s B W o e 2
(i) o e S ¥ aw B e age e A 2 .
(i) FEqosiR fafm@Er gd9 sxex @y &) Rl
(iv) W*aﬂrﬁﬁwawhu%ﬁrfrawwaww%ff
(V) o I ¥ it v & smr At 3 =

<3

(vi) GNP-U% T s@umon & O
(Vi) 31 @5 ¥, W ga w B Ay 5

Write True OR False :

(1) Commodity value of a ten rupee coin in India is more-than its
money value. ¢ O

(i) Measurement of value was very difficult in the barter sygtem of
exchange. - (:;

(ii1) Saving and investmenjc are .always equal. ¢ 5

(iv) There is positive relationship between the multiplier ang Marginal
propensity. < (

6%) "o ull'employment implies there is zero unemployment in the éﬁ]onomy, =

(Vi) GN'P! is a national concept. §

(Vi) Money is what money does. ¥

/0759 1y 4 N0



5 TUp 9@ ¥ I fwfag 1x6=6
(1) TSE "9 B TET fhY Y @Y S © 7
(ii) wrafad wer @ e w gE R/ w e
(i) A Hged A fopq wbr & @R snfa fho @ &7
(iv) 999 iR oma & &= fraree @9y @ @ ded 7
(V) Bﬂﬂﬂwmaﬁ?aﬂaﬁaﬂﬁwﬁfmmwm?
(w)maﬂwmaaﬁ@ﬁmﬁwaﬂwmwﬁﬁwﬁm%l

Write answer in one sentence :
(i) How to calculate revenue deficit?
(11) ,What is the formula for calculation of prlmary deficit?

(ii1) Balance of Payment (BOP) includes which types of transactions? L+~

(iv) The functional relationship between saving and i income is what called?
(v) ‘What is the value of APC + APS?

(vi) Name the tax burden of which lies on the person who pays it.

6 Hmﬁa 1 o ffad

ertek_: the meaning of Revenue.

s /| OR
A=, @ T o1 faRad | '
Write the meaning of Normal profit.

7 At srdame & oot R 2
erte the meaning of Macro Economics. a0
syar /| OR
aﬂﬁiﬁ q@ra H FHAEA |

Explam an Economic agents.

8 Etm‘m Eﬂgm‘r B G | = B

Write the meaning of Consumption goods.

sty /| OR
ot eegett &I gHHEy |

Explain the meaning of Capital goods.

9 Wz @y Him H o7d fafad |
Wr1te the meaning of Demand of money.
sgar /| OR
EU a?r gfd @ e g |
Write the meaning of Supply of money.

/ 10759 D | 5 O |



10

11

12

13

14

15

16
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Explain Demonetization.

31 IE9 B FAARA |

Explain the Speculative motive.

st [ OR

tatp ik e | U .
What is Aggregate demand? e
g sern | OR
What\is Aggregate supply? -
g Saa (wgfa (MPS) @1 ot fofed | [1]
Write the fheaning of Marginal Propensity to Save.
s | OR

WW\WWG{&W|

¢

£
Write the meaning of Average Propensity to Consume (AP C)
T e w ot fafed

Write the meaning of Government Budget. :
s /| OR P

e g e o e

Write the meaning of Revenue Expenditure. xd

w1 et fArad |

Write the meaning of demand. ;
o s | OR

i & @t o fafad

Write the meaning of price elasticity of demand. i

s % @ & e faed

Write any two factors of production. Ly
e s | OR Pl

ere A b S B o fafad |

Write the meaning of decreasing return to scale.

QIR T, @ AT it | "
Explain market equilibrium. o0

q st | OR =~
wﬁaﬁwwm%ﬁwiﬁmﬁwﬁmmﬁw
Y Aar g7 e S ~ ot

Explain how, price is determined in a perfectly competitive 1 L
fixed number of firms. &



17

18

19

20
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“gurdl AT G R 7
What is “effective demand”?

syar /| OR
dema & e @ s it
Explain 'paradox of thrift'.

Gell siiedie @ =g e e §8 sefarerer % e @ gadr d
BT &l €ar ¥ 7
Why is the open economy autonomous expenditure multiplier smaller
than the closed economy one?

syar /| OR
ﬁlﬁwa%ﬁraﬁwﬁaﬁﬁfﬁﬁ?ﬁgﬁfﬁwl

Write any three points on determination of the Exchange Rate.

HIHid IART WA @ ¥ 7
What is a productlon possibility frontier?

sy /| OR
SEARIGET axrféi—eﬁ faeeioor @ et @@ ot &7

What do , you understand by positive economics analysis? -

Q=512 K?2
[Ect the production function of a firm be

L 1 fﬁ-
O SI2 Ko
WWHW%WWW#WM% looswsm
L Tar 100s szmsm K i

Find out the maximum possible output that the firm can produce with
100 units of L and 100 units of K.

Fua /| OR
Ll Fﬁﬁﬂ Qih‘ BH BT IAET e § -
Q=2I°K"? &
IFetithe productlon function of a firm be
Q=2I’K%®
afereraw gt Frfd s it ﬁﬂwtﬁﬁwmaﬂo—cﬁ% 5zt
L qor 2 seral K &Rl siftesem sl frfa @ 3, ﬁlwtﬁtfa—(qm
HT Wbl T TR L T 10 s K aw
Find out the maximum possible output that the firm can produce with
5 units of T and 2 units of K. What is the maximum possible output
that the firm can produce with zero unit of L and 10 units of K.




. el 4
21 ol o % o @ @ Preifa o a@ R @ el @1 A
Write any four elements to determinate of a firm supply curve.
qyar /| OR
A St f6Y wed ¥? @l dW gl @ faradl :
What is profit maximization? Write any three conditions of it.
Write any four functions of money.
= s | OR

Wﬁﬁé%aﬁ%%%ﬁ?—ﬁ?ﬁm%?
What are the instruments of monetary policy of R.B.I.?

23 TH TG B W1 W AR B 4 v @) AHg 9 39 9% B 25 sHedl 4
BN T FN AE WG G A H T9@HT 5 T & T B qT emHeEsy
IE BI_HIT gEHT 20 IHEAT B A T EEA @G Bl 0T BT |
Consider the demand for a goods at price Rs. 4 the demand for the goods is

25 units-;Suppose price of the goods increases to Rs. 5 and as a result the
demand for the goods falls to 20 units. Calculate the price elasticity.

- syar /| OR ”. g
U U SR H WA, SET e 31 ST ¥ qur "M Wi a6 % g
BT " 3H UBR ¥
Considefg,;a market where are just two consumers and suppose their
demandsfor the goods are given as follows :

P | 4t dy
oo & 24
2 Surte 20
3 7 t]y18
4 6 4l 16
5 5 14
6 4 I

Calculate, the market demand for the goods.
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